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Name: __________________________________



1
If [image: image1.png]f(x) = Af9—x°



, what are its domain and range?

	1)
	domain: [image: image2.png]{(x|-3=x=3}



; range: [image: image3.png]{y|0=y=3}





	2)
	domain: [image: image4.png]{x|x=x3}



; range: [image: image5.png]{y|0=y=3}





	3)
	domain: [image: image6.png]


; range: [image: image7.png]{y|y=0}





	4)
	domain: [image: image8.png]{x|x=3}



; range: [image: image9.png]{y|ly=z0}







2
What is the domain of [image: image10.png]h(x) = fx* —4x-5



?

	1)
	[image: image11.png]{x|xzlorx=-5}





	2)
	[image: image12.png]{(x|xz50rx=-1}





	3)
	[image: image13.png]{x|-1=x=5}





	4)
	[image: image14.png]{x|-5=x=1}







3
Which statement about the function [image: image15.png]flx)

5

5
3



  is true?

	1)
	Its domain does not include 2.

	2)
	Its domain does not include 3.

	3)
	Its range does not include 1.

	4)
	Its range does not include [image: image16.png]


.



4
What is the domain of the function [image: image17.png]


?

	1)
	all real numbers except 0

	2)
	all real numbers except 3

	3)
	all real numbers except 3 and –3

	4)
	all real numbers



5
What is the domain of the function [image: image18.png]


?

	1)
	[image: image19.png]{x|x e real numbers, x = 7}





	2)
	[image: image20.png]{x|x e real numbers, x = £7}





	3)
	[image: image21.png]{x|x e real numbers}





	4)
	[image: image22.png]{x|x e real numbers, x = 0}







6
The domain of the equation [image: image23.png]


 is all real numbers

	1)
	greater than 1

	2)
	except 1

	3)
	less than 1

	4)
	except 1 and [image: image24.png]






7
Which negative real number is not in the domain of [image: image25.png]


?

8
What is the domain of the function [image: image26.png]4

NI

) =



 over the set of real numbers?

	1)
	[image: image27.png]{x|x=1}





	2)
	[image: image28.png]{x|lx=-1}





	3)
	[image: image29.png]{x|x <-1}





	4)
	[image: image30.png]{x|x=-1}







9
What is the domain of the function [image: image31.png]4

Axes

) =



 over the set of real numbers?

	1)
	[image: image32.png]{x|x = -5}





	2)
	[image: image33.png]{x|x <=5}





	3)
	[image: image34.png]{x|x=-5}





	4)
	[image: image35.png]






10
In the set of real numbers, what is the domain of [image: image36.png]


?

	1)
	[image: image37.png]x>0





	2)
	[image: image38.png]




	3)
	[image: image39.png]




	4)
	[image: image40.png]






11
For [image: image41.png]


, what are the domain and range?

	1)
	[image: image42.png]{x|x >4}



 and [image: image43.png]{yly =0}





	2)
	[image: image44.png]{x|x=4}



 and [image: image45.png]{yly =0}





	3)
	[image: image46.png]{x|x >4}



 and [image: image47.png]{yly=0}





	4)
	[image: image48.png]{x|x=4}



 and [image: image49.png]{yly=0}







12
What is the domain of the function [image: image50.png]


 over the set of real numbers?

	1)
	[image: image51.png]




	2)
	[image: image52.png]




	3)
	[image: image53.png]




	4)
	[image: image54.png]






13
If [image: image55.png]


, the domain of [image: image56.png]


 is

	1)
	[image: image57.png]




	2)
	[image: image58.png]x <2





	3)
	[image: image59.png]




	4)
	[image: image60.png]x> 2







14
The domain of [image: image61.png]


 is the set of all real numbers

	1)
	greater than 2

	2)
	less than 2

	3)
	except 2

	4)
	between [image: image62.png]


 and 2



15
What is the domain of [image: image63.png]


?

	1)
	[image: image64.png]x <2





	2)
	[image: image65.png]|x| =2





	3)
	[image: image66.png]-2 <x <2





	4)
	all real numbers



16
In which function is the range equal to the domain?

	1)
	[image: image67.png]




	2)
	[image: image68.png]




	3)
	[image: image69.png]




	4)
	[image: image70.png]






1
ANS:
1
REF:
011313a2

2
ANS:
2

For real solutions, the expression under the radical must be greater than or equal to zero.  [image: image71.png]x*-4x-520
(x-5(x+D20



.  For the product of these two binomials to be positive, both binomials must be either positive or negative.  [image: image72.png]x=520and x+120
x25md x2-1
x25



 or [image: image73.png]x=5<40and x+1£0
x<5md x<-1
-1




.  [image: image74.png]



REF:
010218b

3
ANS:
3

[image: image75.png]



REF:
081623a2

4
ANS:
3

If x = 3 or -3, the denominator of the function is zero, which is undefined.  [image: image76.png]



REF:
060407b

5
ANS:
2

If x = 7 or -7, the denominator of the function is zero, which is undefined.  [image: image77.png]



REF:
010504b
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ANS:
2
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069725siii

7
ANS:


[image: image78.png]



REF:
010005siii

8
ANS:
4
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068728siii

9
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1
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10
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4
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010424siii

11
ANS:
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4

[image: image79.png]2x-4>0
254
x>2



.  [image: image80.png]



REF:
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